Week 10 (disc 105)
Wednesday, March 31, 2021 9:02 AM
4.9 Problems
Problem 1. Use Composite Simpson’s rule and the given value of n to approzimate the following improper €= L+ K+ ’L: S {—5 x
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Problem 3. Use Theorem 5.4 to show that the following initial-value problems have a unique solution,
and find the solution:
1y =yeos(t), 0t <1, y(0) =1
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Problem 4. Show that the given equation implicitly defines a solution. Approzimate y(2) using Newton's A = Cos(t) d&
method:
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Problem 3. Use Theorem 5.4 to show that the following initial-value problems have a unique solution,

and find the solution:
N
1y =yeos(t), 0t <1, y(0) =1

2 ¥ = —%y +tlef, 1<t <2 y(1)= v2e
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Problem 4. Show that the given equation implicitly defines a solution. Approzimate y(2) usiu_q
method;




